


         

B.Com. DEGREE EXAMINATION – 
JANUARY 2009.

First Year
(AY 2003–04 and CY 2004 batches only)
Commerce
FINANCIAL ACCOUNTING

Time : 3 hours
Maximum marks : 75

Answer for 5 marks question should not exceed 
2 pages.

Answer for 15 marks questions should not exceed 
5 pages.

SECTION A — (3 ( 5 = 15 marks)

Answer any THREE questions.

1. What are the advantages of “Accounting”?

PnUQ¯¼ß |ßø©PÒ ¯õøÁ?
2. Differentiate between Hire Purchase System and Instalment system.

ÁõhøPU öPõÒ•uÀ PnUQØS® uÁønU öPõÒ•uÀ PnUQØS® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ?
3. Calculate insurance claim from the following information assuming that the insurers met their liability under the policy on “average clause basis”.

A trader’s stock valued at Rs. 40,000 was destroyed totally. The stock in the godown was insured for Rs. 30,000, subject to average clause. The balance of stock, left after fire, appeared in the books at Rs. 24,000.

RÌUPsh ÂÁµ[PÐUS \µõ\› Ai¨£øh •øÓ°À Põ¨¥mkU ÷Põ¸uø» PnUQhÄ®.

J¸ Â¯õ£õ›°ß ¹. 40,000 ©v¨¦ÒÍ \µUSPÒ AÈ¢x ÷£õ°Ú. Qh[Q¼¸¢u \µUSPøÍ ¹. 30,000US \µõ\› •øÓ°À Põ¨¥k ö\´¯¨£mhx. wUS¨ ¤ßÚº HkPÎ¼¸¢u \µUQß ©v¨¦ ¹. 24,000.
4. A and B are partners who share profits in the ratio of 7 : 3. They admit C for 3/7 share of profit. Calculate the new profit sharing ratio.

A ©ØÖ® B TmhõÎPÒ 7:3 GßÓ ÂQuzvÀ C»õ£zøu £Qº¢x öPõÒQßÓÚº. AÁºPÒ C Gß£Áøµ¨ ¦v¯ TmhõÎ¯õP 3/7 £[QØS ÷\ºzxU öPõÒQßÓÚº. ¦v¯ C»õ£ ÂQuzøuU PnUQkP.
5. Calculate the average due date from the following information :

	Due Dates
	Amount due

	
	Rs.

	6.6.2000
	800

	3.8.2000
	1000

	6.7.2000
	400

	18.9.2000
	600


RÌUPsh Â£µ[PÎ¼¸¢x \µõ\› uÁønz ÷uv PnUQkP

	uÁøn |õÒ
	öuõøP

	
	¹.

	6.6.2000
	800

	3.8.2000
	1000

	6.7.2000
	400

	18.9.2000
	600


SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

6. What do you mean by self – balancing ledgers? What are their uses?

uõ÷Ú \›PmiU öPõÒÐ® ÷£÷µmk •øÓ GßÓõÀ GßÚ? AøÁPÎß |ßø©PÒ ¯õøÁ?
7. Kala commenced business as a cloth merchant on 1.1.2007 with a capital of Rs. 10.000. On the same day she purchased furniture for cash Rs. 3,000. From the following particulars obtained from her books kept by single entry, prepare a Trading and profit and loss A/c and Balance sheet as on 31.12.2007.

	
	Rs.

	Sales (inclusive of cash Rs. 7.000)
	17,000

	Purchases (inclusive of cash Rs. 4.000)
	15,000

	Drawings
	1,200

	Salaries
	2,000

	Bad debts written off
	500

	Business expenses
	700


Kala took cloth with Rs. 500 from the shop for private use and paid Rs. 200 to her son but omitted to record these transactions in her books. On 31.12.2007 her sundry debtors were Rs. 5,200 and sundry creditors Rs. 3,600. Stock in hand on 31.12.2007 was Rs. 6,500.

1.1.2007 À ¹. 10,000 •u¾hß, P»õ J¸ xo Â¯õ£õµzøuz xÁUQÚõº. A÷u |õÎÀ ¹. 3,000 öµõUPzvØS AøÓP»ß Áõ[QÚõº. JØøÓ £vÄ •øÓ°À øÁUP¨£mkÒÍ AÁ¸øh¯ HkPÎ¼¸¢x, GkUP¨£mh RÌUPskÒÍ ÂÁµ[PÎÀ C¸¢x AÁ¸øh¯ 31.12.2007À •iÁøh¢u BskUPõÚ Â¯õ£õµ C»õ£ |mhU PnUøP²® AßøÓ¯ C¸¨¦ {ø»U SÔ¨ø£²® u¯õº ö\´P.

	
	¹.

	ÂØ£øÚ (öµõUP ÂØ£øÚ ¹. 7,000 EÒÎmhx)
	17,000

	öPõÒ•uÀ (öµõUP öPõÒ•uÀ ¹. 4,000 EÒÎmhx)
	15,000

	Gk¨¦
	1,200

	FÈ¯ºPÒ \®£Í®
	2,000

	ÁµõUPhß }UQ¯x
	500

	Â¯õ£õµ ö\»ÄPÒ
	700


ö\õ¢u E£÷¯õPzvØPõP P»õ ¹. 500 ©v¨¦ÒÍ xoø¯ Gkzx, ©PÎØS AÎzu ¹. 200 BQ¯ |hÁiUøPPÒ HkPÎÀ GÊu¨£hÂÀø». 31.12.2007À AÁ›ß PhÚõÎPÒ ¹. 5,200 ;  PhÜ¢÷uõº ¹. 3,600 ; \µUQ¸¨¦ ¹. 6,500.
8. A and B are partners sharing profits in the ratio of 3:2 with capitals Rs. 12,000 and Rs. 5,400 respectively. C is admitted as a new partner for 1/3 share of profits with a capital of Rs. 7,500. Adjust the capitals according to new profit sharing ratio. Give the journal entries and prepare the capital accounts.

A ©ØÖ® B TmhõÎPÒ C»õ£zøu 3:2 ÂQuzvÀ ¤›zxU öPõshÚº. AÁºPÐøh¯ •uÀ ¹. 12,000 ©ØÖ® ¹. 5,400 BS®. C Gß£Áøµ 1/3 C»õ£ £[QÀ ¹. 7,500 ‰»uÚzxhß TmhõÎ¯õP ÷\ºzxU öPõshÚº. ‰»uÚzøu ¦v¯ ÂQuzvÀ \› ö\´¯Ä®. SÔ¨÷£mk £vÄPøÍ²® •uÀ PnUQøÚ²® u¯õ›UPÄ®.
9. A Ltd. Purchased a machine on 1.1.2004 for Rs. 60,000. On 1.7.2004, the company purchased another machine for Rs. 50,000. On 1.7.2005, the company sold the machine purchased on 1.1.2004 for Rs. 40,000. It was decided that the machine be depreciated at 10% per annum on Diminishing Balance Method. Show the Machine Account for the years 2004 and 2005.

1.1.2004 AßÖ A P®ö£Û ¹. 60,000US J¸ C¯¢vµ® Áõ[Q¯x. ÷©¾® 1.7.2004 AßÖ ¹. 50,000US C¯¢vµ® Áõ[P¨£mhx. 1.1.2004 AßÖ Áõ[P¨£mh C¯¢vµ® 1.7.2005 AßÖ ¹. 40,000US ÂØP¨£mhx. 
10% SøÓ¢u ö\À •øÓ°À C¯¢vµzvß «x ÷u´©õÚ® GÊu •iÄ ö\´¯¨£mhx. 2004 ©ØÖ® 2005 UPõÚ C¯¢vµU PnUøP u¯õ›UPÄ®.
10. Fancy stores started a branch in Delhi on 1.1.1998. Business transactions for the year is given below.

	
	Rs.

	Goods sent to branch
	25,000

	Sales :   Cash
	10,000

	              Credit
	18,000

	Cash received from Debtors
	16,000

	Discount given to them
	300

	Cash sent to branch for expenses
	3,500

	Stock on 31.12.1998
	4,000



Prepare Branch a/c in Head office books.

÷£ß] QÍõz 1.1.98 AßÖ öhÀ¼°À J¸ QøÍø¯z xÁUQ¯x. A¢u BsiÀ Auß Â¯õ£õµ |hÁiUøPPÒ R÷Ç öPõkUP¨£mkÒÍÚ.

	
	¹.

	QøÍUS AÝ¨¤¯ \µUS
	25,000

	ÂØ£øÚ :   öµõUP®
	10,000

	                     Phß
	18,000

	PhÚõÎPÎhª¸¢x ö£ØÓ öµõUP®
	16,000

	AÁºPÐUS AÎzu uÒÐ£i
	300

	ö\»ÄPÐUPõP QøÍUP AÝ¨¤¯ öµõUP®
	3,500

	31.12.1998 AßÖ \µUQ¸¨¦
	4,000


uø»ø© A¾Á»P HmiÀ QøÍU PnUøPz u¯õº ö\´P.

11. S purchased a machine under Hire purchase system. According to the terms of the agreement 
Rs. 40,000 was to be paid on signing of the contract. The balance was to be paid in four annual instalments of 
Rs. 25,000 each plus interest. The cash price was 
Rs. 1,40,000. Interest is changeable on outstanding balance at 20% per annum. Calculate interest for each year and instalment amount. 

S Gß£Áº J¸ C¯¢vµzøu ÁõhøPU öPõÒ•uÀ J¨£¢uzvß Ai¨£øh°À Áõ[QÚõº. J¨£¢uzvÀ øPö¯Êzx CmhÄhß S ¹. 40,000 ö\¾zvÚõº. «vz öuõøP°øÚ JÆöÁõ¸ uÁøn°¾® ¹. 25,000 ©ØÖ® Ámi ÷\ºzx ö\¾zu ÷Ásk®. öµõUP Âø» ¹. 1,40,000 BS®. Ámi Ãu® BskUS 20%

JÆöÁõ¸ Bsiß Ámiø¯²® ©ØÖ® uÁønz öuõøP°øÚ²® PnUQkP.
12. From the following particulars prepare the Departmental Trading and Profit and Loss account for the year ending 31.12.2005.

	
	Dept x
	Dept y

	
	Rs.
	Rs.

	Stock (1.1.2005)
	9,000
	8,400

	Sales
	42,000
	36,000

	Purchases
	27,000
	21,600

	Direct expenses
	5,490
	8,520

	Stock (31.12.2005)
	10,800
	4,800

	Postage
	360
	360


Indirect expenses of the business amounted to Rs. 3,900 and they are to be divided in the ratio of sales between two departments.

RÌUPsh Â£µ[PÎ¼¸¢u xøÓÁõ› Â¯õ£õµ ©ØÖ® C»õ£ |mh PnUSPøÍ 31.12.2005UP u¯õ›UPÄ®.

	
	xøÓ x
	xøÓ y

	
	¹.
	¹.

	\µUQ¸¨¦ (1.1.2005)
	9,000
	8,400

	ÂØ£øÚ
	42,000
	36,000

	öPõÒ•uÀ
	27,000
	21,600

	÷|µia ö\»Ä
	5,490
	8,520

	\µUQ¸¨¦ (31.12.2005)
	10,800
	4,800

	u£õÀ ö\»Ä
	360
	360


©øÓ•P ö\»ÄPÒ ¹. 3,900, C¸ xøÓPÐUQøh÷¯ Auß ÂØ£øÚ ÂQuzvÀ £Qº¢uÎUPÄ®.
————————

	UG–359	BCO–1











PAGE  
8

UG–359


